
Solving Quadratics Through Factorising 



2

1 Factorise and thus solve the following quadratic equations, finding both values of 𝑥:

1(a) 𝑥2 + 𝑥 − 56 = 0

[3 marks]

Answer

1(b) 𝑥2 − 4𝑥 + 4 = 0

[2 marks]

Answer

1(c) 𝑥2 + 12𝑥 + 32 = 0

[3 marks]

Answer

1(d) 𝑥2 + 2𝑥 − 35 = 0

[3 marks]

Answer

Turn over for next question

Turn over ►

12
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2 Factorise and thus solve the following quadratic equations, finding both values of 𝑥:

2(a) 𝑥2 + 5𝑥 = 6

[3 marks]

Answer

2(b) 𝑥2 − 3𝑥 = 40

[3 marks]

Answer

2(c) 𝑥2 + 5 = 6𝑥

[3 marks]

Answer

2(d) 𝑥2 + 3𝑥 = 18

[3 marks]

Answer

Turn over for next question

Turn over ►

12
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3 Factorise and thus solve the following quadratic equations, finding both values of 𝑥:

3(a) 3𝑥2 + 10𝑥 − 8 = 0

[3 marks]

Answer

3(b) 3𝑥2 + 39𝑥 + 126 = 0

[3 marks]

Answer

3(c) 8𝑥2 + 46𝑥 + 30 = 0

[3 marks]

Answer

3(d) 8𝑥2 + 10𝑥 + 56 = 7𝑥2 + 67

[3 marks]

Answer

Turn over for next question

Turn over ►

12
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4 The triangular prism chocolate box shown below has a volume of 140 cm3

Determine the only viable length of 𝑥.

[5 marks]

Answer

End of Questions

END

Not drawn 

accurately

7𝑥 cm

𝑥 + 3 cm

4 cm


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5

